(A) () The geometric mean of 10 Total number of printed pages—12°
observations on a certain variable - )
was calculated as 16.2. It was later
discovered that oné of the.
observations was wrongly recorded
as 12.9; in fact it was 21.9: App_ly~
appropriate correction and calculate
the correct geometric mean. S
Bl BT @ oIS 1 LOGT AT
TANST Wy Aot SR (A Coifest 16,21
fois e i @R @ < R
wEIC 12.9 FBpitst (56 31 T2l apere
Zofest 21.9 | Toge FAeHign el
iR AfGE STNGT TG S0 T |
(i) The first of the two samples has
100 items with mean 15 and !
standard deviation 3. If the whole
" group has 250 items with mean
.15.6 and standard deviation

J13.44 , find the standard deviation
"~ of the second group.

7ot AR foeTe dAbre. 100313115@
@iz AF NG R 15 A ANF Koo
tarm 31 Fft = (aiit® 250 R AT
(R TR MG ZeT 15.6 A< TG Koew
251 [13.44 , COT% ST TR s
oo Fefd 11
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The figures in the margin indicate .
Sull marks for the questions.

~ Answer either in E'nglish or in Assamese. -

fl- Choose the correct option/Answer the

{ question of the following' (any seven)

C1x7=7

1 w%%@maﬁ%%w/—a—ﬁm WW

s (R ’ih?r)

(@) The geometric mean of 2, 4, 16 and 32
is ¢ (Fill in the blank)
2,4, 169R 2 I QANRNG g |

‘ (R 312 759 =)

3 (Sem-1/CBCS) STA HG/RC/G 12 ' 2000 Contd.




(b)

(¢

(@)

(e)

0

Mailed questlonnalre method cannot be
adopted if the respondents are |
(Fill in the blank)

ORI (@RS epsisiq 2ol IR IR FRIF
T Tewmwiel =7\ (T 912 979 F9)

State Newton’s forward interpolation
formula. :

ﬁﬁﬂﬁwwmmﬁm

In a frequency distribution, the last
cumulative frequency is 100, then Qs
the third quartile must lie in

B ARee! Rorera 3fit e 168 Rl
100 W, (SERE PO T fEmes +n
e

(i) 25th item (25 W)

(i) 50th item (50 o)

(iii) 75th item (7599)

(iv) 100th item (100 o)

For a skewed distribution mean =.5,
median = 4, find the value of mode. -

5! R 3B TG = 5, T = 4 (ST ITTH

S Aefm 0
What is coefficient of variation ?

5. @l [ e

3 (Sem-1/CBCS) STA HG/RC/G 2

(9)

(h):

)

(k)

K
" Data .set © ﬁs§
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'If SD nf x is 5, find the SD of 15x.
T x 3 e REeM 5, (9T T 15x§ﬂ17~|?ﬁ‘-
five Tfered |

State the advantage of coefficient of
variation over standard deviation.

e RoerA e, Roge @i R
fert ' '

' The arithmetic mean of n natui‘al

numbers for 1 to n is
(Fill in the blank}

mw;lmnﬁm@n%m\wmmﬁ
gUrE NN (3T 312 79 73)

‘Write down the formula of B and f,.

p R f T L
If in a series, 20% values are gre;ter
than 75, then = 75.

. (Fill in the blank)

z'rfﬁ— eﬁr =T 20% sm 75 O Tt T3,
AST6) =751 () T o439 =)

Quadratm mean is preferred most, if
the data set contains some

number. (Fill in the blank)

H\W%ﬂ%ﬁﬁz}r
TR QR el | (T 32 7 =)
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2. Answer any Jour of the following questlons
: 2%4=8

wote WAl R oIy el Tew o ¢
(a) Define interpolation. ‘
S K- f |

(b) Describe any one diagram used.for
representation of statistical data.

'ﬂﬁm\%wmaﬁﬁfwwwﬁm\

G5! 7 I A |

(c) Derive an expression for a measure of
association between two. attr1butes

@@NWWWWWT |

aﬁawﬂ@%\@w

1..-(d) Write down one merlt and one demerlt :

of mode

T bl e W aﬁmml

(e) Find the value of : @ %f%i\em 2)
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() What do you mean by numerical
‘integration .? Write ‘the formula. of

Simpson’s 3/8th rule.

ﬂ\wwﬂqﬁzﬂ%qu&eﬁmaw
SR*IF 70! ol |

g (g) What do you ‘mean by prlmary and
: secondary data ?

e i Cﬂ’]ﬁwi’ﬂ{ﬁﬁ%@? '

(h) Write one advantage and one
disadvantage of standard deviation.

W [beR BT JRAT ST zﬂﬁ@ﬁﬁm TR

M -
3. Answer any thiee questions of the
- following : 5x3=15
o1 [z fofbr exm Tea foral 8 |

el olidi e :
(@) Calculate ‘ _[2 T by. dl\{ldlng the
range into eight equal parts.

» 10 dx
s aWw@t—fm—m——m

R W Tt
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(b) Define any two measures of dispersioy, | (g) Given that : (1t @itz ¢)

- foran _
(d) © :Given (e ¢

= 2/+2Y,=5 ‘
| A o R . | - f0)+ @)+ 16)=25
(c) Write a note on ’skéwness and kurfoéis_ q _ - f (4) =29 '
el o wgn awom Rew bt oy o | SE)+E)=118 -

Estimate the value of £(10).
£(10) = WA Bfnear

10 . 10 | : ; 3
i i 8 S , ; |- (h) State and prove Newton’s backward
» ;Ux = 500426 X 24:Ux o 329240 y ; - : lnterpolation fomula.

10 e . - - OO ATl gt Bl i it
2.Ux=175212 and U,, = 40365. i ' s o, '
7 Sy : & k L Answer any three of the following :
Find U;. (9 Sfeedt u,) - 4 10x3=30
o : b “ Shai e : ﬁmmr Fﬁf}l : o
(e) -If U, =a+bx+cx?, prove that : (CRIGES B s W TorDt 2 T i & S
; o i BAR S : * (@) ()  Explain- how median can be
91 9) SR - S : . obtairied ‘graphically from ogive
> 1 Sl ); ~ and histogram. . : 4
 dx =2U, +— (Uy = 2U, +U.) Lot : T ;
L'dex 2 2+12_( A Aot o eﬁ@m@mwmw
() Discuss Newton-Raphson method. S O RS e iR AR I <[] |
o S ' 5t | : : .~ (i) Draw the ogives for thé_folloWing

_ distribution showing the number
- ~of marks of 106 students in a
* Particular ‘subject : 3 6.
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Marks

No. of students:

®

0

\

106 &R @R B R (IR TFERE.

7 SR (Ol g T 8

. 0-5 " 5-10 10-15 15-20 20-30 30-50 50-70

5 10 925 20 18 20 8

Given the following ultimate class
frequencies, find the. frequencies

of positive class : )
oS (Tia TR fal SR zmas
IRQTOPTR ﬁeﬁa i ¢ '

' (ABC)=149 (ABy)=738 (AﬁC)=225‘

(Aﬁy)=1196 (@BC)=204 (aBy)=1762
(apC)=171 (apy)=21842 ‘

i) Find the remadining class
frequenc1es given. the following .
data: : o i 5

(=770 (aB)=587 (aC)=428

(i)

4 <l cafﬁ w\wﬁcﬁw
N =23713 (A)=1618 (B)=2015

(BC)=335 (ABC)=156

If the two lines of regression are

1 :
=—y+9 —4x+16 and
DL W Al -

V(x)=4
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@)

@ @

(a) find the correlation coefficient
~ between x and Y’ '

‘() the méan values of x and y

(c) standard deviation of y -
2+2+2=6

: 1
M qote. g (@9 x=€zy+9,

y=4x+16 % V(x)=4

- AW Sferedt
(a) x S y T TG ADTE S

(b)  x % y I Mg
(€ yI = [oew

Prove that correlation coefficient

is the geometric mean of regression
coefficients. 4

Il R (X TRTEE 94D, T2 1
| TR el Srted 4|

Given the values : 0%211 WW 2)
X : O 01 0.2 03 0.4

S Yl 1.095 1.179 1.251 1310'
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C;onstruct the table of divided
difference. : ' 6

BRIES \SWQWWWWI
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(e)

(@)

Q)

(iv)

()

Define multlple and partial
correlation. 4

T

Define standard deviation. How is

it affected if every observation is
(i) multiplied by a constant m and
(ii) increased by n ? . 1+4=5

W fRperm el ) A afswt
- PR TGP (i) SR m (5 A
i (i) n (§ ORI G, (OF - G

oo @EmE doriEe %3¢

State Lagrange’s interpolation
forrnula With the help of this
formula prove that -

-t —u3—0.3(u5 u_g) +0.2(u‘_3 —u_s') ‘

1+4=5

mm@aa—mmlﬁmw
ZIYHCTWN

Uy = uz —0.3(ug —u_3) +02(u3 us)

Prove any one of the properties of.

multiple correlation coefficient.
4

m@cﬁiﬁ Rcwizet Gt &f 2e =1 |
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(i) Show that: —|<r<g]. v 3

e @3 —[<rsl.

(iii) Find the Value §5 (?ﬁﬂ Sfreats) 3
A (n > r) :

“(g) () Estimate the missing terms in the
' following data ': S

e AR Ffa 4 8

+ x: 1975 1980 1985 1990 1995 2000 2005

y: 200 220 260 ___ 350 ___ . 430

(i) If nj and ny are the sizes, G; and
G, the geometric means of two
series respectively, prove that the
geometric mean G of the combined
-series is given by :

logé:[an°gG1+n2109G2J 2

n; +n,

T ny W ny WK, G, O Gy
| RO (AT ST W i | (5%
oAl T @ IS (T Sees WY G

log G = (nl log Gl +n,log GQ]
. nn,
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